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BRIGIDINE COLLEGE RANDWICK

VEAR 11 Mathematics Common Student

March 16,2006 ,:
Time: 45 minutes Teacher

Show all necessary working.
Neatness may be taken into consideration in the awarding of marks.

VAEEBS s it ey o

1. Calculate
10.52 + 321 p

2. A book costs § 32.50 is sold for § 28.75. Express the loss 2m
as a percentage of the cost price. (1 decimal place)
|
N answer i
3. After being discounted by 20%, a DVD player sold for $ 230. 2m,
‘What was the original price marked on this DVD player? =
7
7
answer,
4 Evaluate [-5 x -3] +2[6x-2| - [8]. (Show working) 2m
answer '
3m

5. Express 3.24 (ie 3.242424.)as a fraction.

. /“\ X
=N

Compl etely simplify the following  (leaving denominator Rational when necessary)

—
5
) 247 -34/28 + /63 b. 5 Jal
a 247 - 3428 + /63 243/
‘\
i
| |
answer| 2m SUSHEL "
- s
//
_ __ 1-3/3 |
, 443 - 242)? - d.
c (“+3 V2) 243-1/
\\
’—»\\
\
| \
a \
| .
3m

answer '1

Completely factorise the following expressions.

answer
only

a. 8x? - 12x
T
!
b. 4% - 9 Im !/
35 ‘
c. 3x? - 16x + 5 2m ‘,:
. . {
/; i
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Simplify the following expressions

108 % ' @by
——— 2m — 2m
12 6// a*)? !
v/ B
a-1 o x*:x-6 2x
c ] m | d X 3
a’ - 6a + 5 \?\m | 2x*+16 "Xz - 3x "
— l
\
Solve the following equations.
a. 3)5+";~’<=l‘ “2m|b. x2-7x+12=0 2m
3 2 <
/
c. 3x=5-2x sm|d * |3x-5] =x -2 3m

\

\

N
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10.

11.

 Solve the following simultaneous equations

a 2X+y=9.- b. xy =12
y =x-3 @ _ 3x -2y = 14/
/
\
\\
2m
Solve the f‘ollowing inequations
e 3<PE 54 b. 14'3}( >5
3 2
(
|
j
f
|
]
|
j
3m

Byuéing the 1inethod of 'completing the square’, solve the'eq‘.tiation X =6x + 1.

|
1
|
|
l
i
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Show aII necessary working.
Neatness may be taken into consideration in the awarding of marks.’

—— 0-03 ((W“Q
1. Calculate J4L6 + 395 (to 3 significant figures) 2m
0.52 + 321 gl ( w‘i‘
0. 02800931] (mwk) 0:028 (imork) 0-0281 (Imark)
O- 1432 (Imarh) - -Qr" ot to use "mM in s‘wa\answer O 0280
3238 ({maﬂz.) -Porqo)r o yse. brackeds in donomineder,
2. A book costs § 32.50 is sold for $ 28.75. Express the loss 2m
as a percentage of the cost price. (1 decimal place)
loes=32-50-2%-75 = $3.7S \/
3-75 o> . [ by
32.s0 * \/ answer / : 5
3. After being discounted by 20%, a DVD player sold for $ 230. 2m
What was the original price marked on this DVD player?
A R i
o e g KL T ;ws P
lot> 287-So -
£: e § 287-S0

4. Evaluate [-5x-3| +2|éx-2|,-|8]. (Show working.)
1S +2Z2x\2 - %

— o

answer 3 k

2m

[

5. Express 3.24 (ie 3.242424.. )asafractxon

Xz B 242004
(o = 3242420 - v///.
N fob X = 324-2424-- -,

b 9 =324 \/17 |
_ 32 O
7 = 4q or %“f3%‘VZ

" 3m

answer

{‘H—) 2><4J'><2I7‘_+(2 \\ \/‘\»X
lex3 ~ 1608 + 4 2. ﬁ

Completely simplify the following  (leaving denominator Rational when necessary)

a. 2J‘7'-‘3\/._2'_§+\/g?;‘
297 = 3T ¥4 7. /.
A7 - L7 +3§

= =7 /

BRI )
23 X G

513 ‘
Sl

& Siz

~answer _— N7 2m answer ___G fom
@B - 252 1:343 23+) .

o ) 2431 d 2B+

m’“\u
se-166 '/

answer 56~ ’QJE , 2m

Completely factorise the following expressions.

a. 8x2 - 12x -

2E4] 60 =343 '
BY— (Y V/
=3 |7
-

W

«r47 |
answer I I Im

answer

» \, only \/
" 4 (22— 3)

b. st .9

] ee ey

3x 'l\
c. - l6x + 5 :L><S

v
2 (33;—0 (x~‘/§>

d16x® - 54 2(Bac- 27>\/ 2(2d~3>£4fac2+696+51>

2 [y -7 ]
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8.

B

Simplify the follo@ing‘expressfon's

10.  Solve the following simultaneous equations o )
. qhz‘ ' : ‘a. 2ZX+y=9 b. xy =12 «- - (D
(a3 . =x -3, S2y = 14 .-
o Mxoxo2 am|n 2@ -200b0 S, . y == S m D
2 672 . @a’y? 4ot ‘ Gond vz % sob in®
- — ' ' . — ' ~-2xiZ = :
> ‘ ) : v . 3e— 324 a 33:2 = =
= X Var;‘/ 2 x=4 3 =24 = 4o \/
= X 2 , 2, -
2 £ . . = do= 4 -24-=20 V
LRSS vt T
o L x - G
s .

o il Ll Xexes, b , Gt x-6y o0 v
a‘* -6a+5 - 2" +16 x*- 3x ‘ . ) Ig;.ﬂg:. OC:Q:\/
a-1- : ' ; . -7 - 9

-y SRGO N S ' R

- a-~ , — e ] . - .
2(131‘8) I(DC 3> _’-’5' : 2m dm

R . (x=3)Coct2) 2 — :

= : _; ‘/ = “_____)_T_r__,_. e DCCX"3> / ,

a 2(xe)(x =2 +4) 11.  Sélve the following inequations
I ‘ :
= —— :
mas V0 L Pa0s
. 3
L =9 L 2x-6< 12 /
. . ~3< 20 A\B \/
9. Solve the following equations.

o b " 4 ; 3 << 1 / .

X~2—§-+x=i’l 2m|b. x2<Tx+12=0 2m '

’ ? (x-)(-3) =0 |
Goc+bx = 3 ‘/"’L;va]mf ' b wez
fox =13 9 x= )y -
i ‘ im | . » Im
o 3% =5-2x 3m|d. |3k -5| =x_-2 3m
32 42x 5= 0

; 3xg-5=x-2 65*(39:~:>’)= >C—2 ; 12.
+S o '

By using the method of 'completing the square’, solve the equiation x* =6x + 1. im
3x 2x =3 ~3xctS - Lo ' x* 6 = | 2
= : . [
x ><*| x2S \/ T = 4> : x-bx () =\ +(5) v
. — o X% 6x+9 =10 : .
e Tesl : . x=F | .
C’”C*'f)(f'o =e |3xts-s|=15-2 Test : , (-3 =10
S I Ve 057 ~ors |Ros|=Foa <3 = tlio
wieck. LA , , :
J ST T ‘ : . X= 3 Eo \/ -
r‘ed"eoe — ' . :
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